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CBSE Class 12 Chemistry Question Paper 2018

SET -1
Series : SGN/C HEA.
Code No. 56/1
T A, TR e 1 STR-GfeTh F gE-g
Roll No. R e o |

Candidates must write the Code on
the title page of the answer-book.

o FUTEH A FEIE-A A gays 128 |

® TH-TA H glfed 81 <1 3T U 1T hre v b1 BT ITR-YfEeh 6 JE-T%S W ford |

o HUFI AT U ol o 5 T 3 26 Y # |

® YT T I IR foIE1 & FHH A 98, T 1 561 9% g |

® U WYH-UA %I U % fer 15 e o1 wwa fezn mwan 8 | wea-u ot fomwwr gafs & 10.15
ol foRaT ST@M | 10.15 S & 10.30 S o BT el Y¥-93 sl Ui 3N 39 3Gy &
R o STR-Yf&TehT T hIg TR a1 for@ |

e Please check that this question paper contains 12 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.

WA o @a=)
CHEMISTRY (Theory)
fgiie g : 3 g IeHTT 3% : 70
Time allowed : 3 hours Maximum Marks : 70

qE= e

56/1

(i) G g7 A E |

(ii)  FH-GEIT1 G5 TF 3T Tg-IFTRIT 537 & 31K % J97 & 170 1 SF & |

(iii) FFA-GEIT6 T 10 TF TG-ITT J97 & 3K I 9% F97 & 170 2 3 8 |

(iv) FoT-G&IT11 @22 7% 41 Tg-IT0T J97 & 3K Je9F Fo7 & [o70 3 HF & |

(v) FOT-GEIT23 GoATRa 397 8 3K 59% o104 3% 8 |

(vi) FoT-TEI124 T 26 7% G-I I97 8 IR T4 FoA & 170 5 HH 8 /

(vii) I3 FITFIHT &1, T AT 2Tl HT IINT F | Fegpeied] & FqI1T BT AT T&T 8 |
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General Instructions :
(i)  All questions are compulsory.
(ii)  Questions number 1 to 5 are very short-answer questions and carry 1 mark each.
(iii)  Questions number 6 to 10 are short-answer questions and carry 2 marks each.

(iv)  Questions number 11 to 22 are also shori-answer questions and carry 3 marks

each.
(v)  Question number 23 is a value based question and carry 4 marks.
(vi)  Questions number 24 to 26 are long-answer questions and carry § marks each.

(vii) Use log tables, if necessary. Use of calculators is not allowed.

1. sfufsran A — B & forw, S/ A <t g = T 5@ St & it safifsman o o e
ST 2 | 3Affsran S wife w2 2 1

For the reaction A — B, the rate of reaction becomes three times when the
concentration of A is increased by nine times. What is the order of reaction ?

2. SATYINOT AN SSHTE I BT g ¢ 1

Why 1s adsorption always exothermic ?

3. [Cu(NH,),][PtCL,] 1 STHEHISH HHIEad fafa | 1
Write the coordination isomer of [Cu(NH,),][PtC/,].

4. UH WHISH HEH Al A’ REhT FGEA C,H,0 & &1HS DNP HRX AISIHIH
GeT0T ST B | T Sioid JAehHeh i ST &l ohidl & 3 S 5t bl off T T8
FATR | ‘A’ I TTEAT fARaT | 1

An aromatic organic compound ‘A’ with molecular formula CgH O gives positive

DNP and iodoform tests. It neither reduces Tollens’ reagent nor does it decolourise
bromine water. Write the structure of ‘A’.

5. wifesm veETss i qdiae Sfed FanTse | Ifufma 89 W= I 9%7 I 6t ImRh
It | 1

Predict the major product formed when sodium ethoxide reacts with tert.Butyl
chloride.
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FIE SRECHES AN VHIEH BT By USee a9 8 ga1ers foge #1i goiiar 2 7 39
forsyor @ femm weh o1 Fereanteft e 8 7

Why a mixture of Carbon disulphide and acetone shows positive deviation from
Raoult’s law ? What type of azeotrope is formed by this mixture ?

frferfiga firent # & =i S 2 Stfferan & ufa sifees sifufsramfia 2 sfivwi ¢
CH,CH(C/)CH,CH, 3#9a1 CH,CH,CH,C/

Which one of the following compounds is more reactive towards Sy2 reaction and
why ?

CH,CH(C/)CH,CH, or CH,CH,CH,C!

AgNO, foerm aret frelt Sgd-smeaedt da § FfoR soiagiel & @19 1.50 A &

Terpaeamn warfed % W 1.50 g faoar feifia g8 | forgaum foham w9 oo yafed g8 7
(Ag %1 HIeR Z589H = 108 g mol !, 1F = 96500 C mol 1)

YT

298 K 9 Hifeeh 3151 & 0.01 M foretas <hl Iretehar 1.65 x 104 S em™! 2 | farer= <hi
HIT ATARAT (A, ) 1 G HIT |

A current of 1.50 A was passed through an electrolytic cell containing AgNO,

solution with inert electrodes. The weight of silver deposited was 1.50 g. How long
did the current flow ? (Molar mass of Ag = 108 g mol™!, 1F = 96500 C mol ™).

OR

The conductivity of a 0.01 M solution of acetic acid at 298 K is 1.65 x 104 S cm™!.
Calculate molar conductivity (A ) of the solution.

FrfcTRaa <1 wteA smtfea Hif
(i) XeF,
(i) BrF,
Draw the structures of the following :
(i) XeF,

(i) BrF,
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10.

11,

12

13;

56/1

Freafafaa & ve=am Hifs

() 3d Soft <l Hehwor erTq S FEd Al AR sraEaTd guid { |

(ii) e Taamq fore @ 95% A-ATaS UTg Bt @ 3R S sge hi Mefl, Had (Fie)
AT Eeleh A< o ScdTe H T B ¢ |

Identify the following :

(i)  Transition metal of 3d series that exhibits the maximum number of oxidation
states.

(1) An alloy consisting of approximately 95% lanthanoid metal used to produce
bullet, shell and lighter flint.

BIBEICICASIECIAE TR

() 2-shee fogiRarsHIso sififheaT Tar g |

(i) FIRIE=I ATedraRtr R ear 2 |

(i) WU SIS I KCN H 3135 fehlT ST 2 |

Write the product(s) formed when

(1)  2-Bromopropane undergoes dehydrohalogenation reaction.

(1)) Chlorobenzene undergoes nitration reaction.
(i) Methylbromide is treated with KCN.

200 g @ § 10.5 g AREM FMEE I S faea @1, 78 AFd g o Fifitem
simree goiaarn feriiforg 2, femien ufterfera Sifu |
(ﬁ?ﬂﬁlﬂﬂmwﬁﬁ{m= 184gm01‘1,3ﬁa51%1'QKf= 1.86 K kg mol 1)

Calculate the freezing point of an aqueous solution containing 10.5 g of Magnesium
bromide in 200 g of water, assuming complete dissociation of Magnesium bromide.

(Molar mass of Magnesium bromide = 184 g mol !, K for water = 1.86 K kg mol ).

() Frefrfan sl @ ot SR si sl ¥ fr 3v St gare

H', 443 K
CH,CH,OH

(i) 3NAT-ABIEIATA 9T gRT ST F41 BT 8 FaIfeh TU-ATSLIBIATA HH ATSIefies
BT ?

(i) Complete the following reaction and suggest a suitable mechanism for the
reaction :

) H', 443 K
CH,CH,0H ————

(1)) Why ortho-Nitrophenol is steam volatile while para-Nitrophenol is less volatile ?

4
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14.

15.

16.

56/1

T AfHfsRaT A o ufd yem aur B & ufd fgfa i 1 2 3
(i) 31asd 97 gefie folfEy |

(ii) B hY HigaT i T S B ST O AT TS T ?

(iii) A @1 B ol HIgaT g S & S T T THTE TS 7

A reaction is first order in A and second order in B

(1)  Write the differential rate equation.

(i) How is the rate affected on increasing the concentration of B three times ?

(ii) How is the rate affected when the concentration of both A and B are doubled ?

Frafoafaa srfifrn w fomm Hifse 3
Cu(s) + 2Ag'(aq) — 2Ag(s) + Cu*'(aq)

(i) 39 Noart et i gise fomd < g8 srfforan gt 2 |

(ii) Teregaem < yarg i fean G |

(ili) HeTe 3R Vg W BN areft ardf-Tret arfrframd fafew |

Consider the following reaction :

Cu(s) +2Ag"(aq) — 2Ag(s) + Cu?’(aq)

(i)  Depict the galvanic cell in which the given reaction takes place.
(i) Give the direction of flow of current.

(i11) Write the half-cell reactions taking place at cathode and anode.

feaferfiga staefioral & foru o €y 3

() 9 fyeet Trgee faerem <t WRfiem smeere foe O fuamn Smar @ @ ®w
HAETE SicAge! faoa YTH 8laT 2 |

(i) gew fawora vered steres gureht srfryes grar ® |
(iii) S BicATsS! Bl Schavli Aier off hed 7 |

Give reason for the following observations :

(1)  When Silver nitrate solution is added to Potassium 1odide solution, a negatively
charged colloidal solution is formed.

(i) Finely divided substance is more effective as an adsorbent.

(i) Lyophilic colloids are also called reversible sols.

5 cn
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17.

18.

19,

56/1

ﬁ%ﬂﬁﬂﬂaﬁﬁﬂt 3
(i) Tr=fetiaa 2ifTeni ot STl faerRm | 39 96d §U &R Jeeldl < 4 | Safea
HifT :
CH,;NH,, (CH;);N, (CH,),NH.
(i) ‘A’ 3R ‘B’ &l UgaH hIT :
NaNO,/HC/:273 K = H,0/H"
C H;NH, > A >
(i) <hIfeeTeHT JAf¥rfspan 1 Tffertor feafau |
Do as directed :

(i)  Arrange the following compounds in the increasing order of their basic strength
in aqueous solution :

CH,NH,, (CH,);N, (CH,),NH.
(i1) Identify ‘A’ and ‘B’ :
NaNO,/HC/:273 K £ H20/H+\B

B

C H,NH,

(iii) Write equation of carbylamine reaction.

ftetfiad =i =men Hife ; 3
(i) UH 3 AT T STUET sl ior STl i tRE SIAER T8l d 3Iug
e sht Wifeh STEER Hid & |
(i) DNA % T T U G & Th 8 @ |
(iii) TeEpE i AflsF S guid B 6 o A faaa e s § SEite @
T UfceeTs HHE & ¥ H U ¢ |
Explain the following :

(i)  Amino acids behave like salts rather than simple amines or carboxylic acids.
(i) The two strands of DNA are complementary to each other.

(ii1) Reaction of glucose that indicates that the carbonyl group is present as an
aldehydic group in the open structure of glucose.

feferfiga sgerhi & s+ T TG Tehetehl o 3 I ; 3
(i) ST-N

(i) HEAH-6

(i) S

Give the formula of monomers involved in the formation of the following polymers :

(i) Buna-N

(i) Nylon-6

(i11) Dacron

6 cn
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20.

21.

22,

56/1

FrrferRam &1 e fafau 3
(i) ®H % 315 ¥ | o (hYo § NaCN i

(il) G U & VT o fFrshuo o s

(i) T4eheT & IMgA & CO i

Write the role of

(1)  NaCN in the extraction of gold from its ore.

(i) Cryolite in the extraction of aluminium from pure alumina.

(iii) CO in the purification of Nickel.

o wepet & TUPAC 7w forfa 3
()  [Ni(NH;)6]Cl,

(i) K;[Fe(CN)]

(iii) [Co(en),]**

Write IUPAC name for each of the following complexes :

(1) [Ni(NH,)IC/,

(i) K,[Fe(CN)]

(iii) [Co(en),]**

() Fraferfaa g i of Hifve 3
() 2MnO, +5S0; +6H' >

(b) Cr,0, +6Fe? + 14H -

(i) few U TSt F MU R Fe2', Mn?" 3 Cr2* i Iehl +2 STarefietor sreeyrati
o TTRIce o §gd §U A T S erd i :

wePHE-==04V

EOMH3+/M]]2+ =+15V

EOFe3+[Fe2+ =+08V

7 cn
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23.

56/1

freferfiga = forem i forfige -
() K,MnO,¥KMnO,
(i) FeCr,0,¥ Na,CrO,

(iii) CrO; ¥Cr,0,
(i) Complete the following equations :

(a) 2MnO, +5S0; +6H' >

2—
(b) Cr,0; +6Fe*" +14H" —

(i) Based on the data, arrange Fe?', Mn?>' and Cr?' in the increasing order of
stability of +2 oxidation state.

E°cptiopt=-04V

EMidtMp2t =1+ 135V

E°pe3t/pe2t =108V
OR

Write the preparation of following :
(i) KMnO, from K,MnO,

(i) Na,Cr0, from FeCr,0,

(ii)y Cr,05 from CrO;

Rz foreft wgdie ol 8 e o & el o e i aivRfat s o § | 3R
ST ot TSt o forn € +fie Bt iforat o e s fean | St 3 T At w3
IR H Ul Tl a1 98 foeged (37ed) JU 3R #2g 1 UH1 7 S i Gelg < | 364 ALy i
TG T % foTT FRTATE i i hal | TNTTE i o IveTd deg 379 forfer 3fi
TEH & 2 |
IULiTh G e o uvETd eferiiga weal & 3ot € :
(a) TagToiTes M B SR TEmTeh ki o o T 919 SATST |
(b) o Sieret & wrmsl fore e o mifera i g o = sfaa i R 2
(c) & i fufsredia moent & smam w fefofes & @ fowm ot Aifes 1
Bifew :
e, WA, BTl 3N gepial
(d) 3T < 0 B H9 o Foowarstt b gefeg Hifse S ey @1 yEd WA | 9EE
B

8
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Mathew works in a multinational company where the working conditions are tough.
He started taking sleeping pills without consulting a doctor. When his friend Amit
came to know about it he was disturbed and advised Mathew not to do so. He
suggested that Mathew should instead practice yoga to be stress free. Mathew is now
relaxed and happy after practicing yoga.

After reading the above passage, answer the following questions :
(a) Name the class of chemical compounds used in sleeping pills.

(b) Why is it advisable not to take the dose of sleeping pill without consulting a
doctor ?

(c) Pick out the odd chemical compound on the basis of its different medicinal
property : Luminal, Seconal, Phenacetin and Equanil.

(d) List at least two qualities of Amit that helped Mathew to be happy.

24. (i) SEAIE A - 5

(a) A A, NaOH % 3¢ 37 o oot o | srfifsran et 2 2
(b)  XeF, %1 SelaTTee 21 2 ?

(i) Tr=fefas % foe s sro i
(a) SE,SeaTaeed & ufd Ffem 2 |
(b) H,PO, Tzt 2 |
(c) IhE Tl § T hae S &I THIIOTE T AMfTehi o1 FH o fo7T 377 © |

3

() ey forliom e, o afed Tdedt qur Seriee Coedt S8 greel #
wE ¢d g F, GUT C1, 3t e iehTe &7wa shi el shifwg |

(i) Tr=ferfaa sl o gl Hif
(2) Cu+HNO,(@) >
(b) Fe’'+S0,+H,0 >
(c) XeF,+O,F, -

(1)  What happens when

(a) chlorine gas reacts with cold and dilute solution of NaOH ?
(b) XeF, undergoes hydrolysis ?

(i1)  Assign suitable reasons for the following :
(a) SFg is inert towards hydrolysis.
(b) H;PO, is diprotic.

(c) Out of noble gases only Xenon is known to form established chemical
compounds.

OR
56/1 9 cn
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(1)  Considering the parameters such as bond dissociation enthalpy, electron gain
enthalpy and hydration enthalpy, compare the oxidizing power of F, and CI,.

(i) Complete the following reactions :
(a) Cu+ HNO,(dilute) —
(b) Fe**+80,+H,0—>

(c) XeF,+O,F, >

25. (i) <HRUEIT 5

(a) HCN % HoheM & Ufd CH,~CHO %1 g1 § HCHO 31fersh stfufsramsficT |
(b) CH,-COOH I 31&T O,N-CH,~COOH %1 pKa A Fat & |
(c) Ufeergsl 3 HIEHI 1 Ul BISSISH A1 Yehfd 1 Bl & |

(i) Tr=fafaa e e § fave & foe awe temfe wdheor G :
(a) TUISA I THAA
(b) URTA-2-3TH IR U=A-3-31H

31
(i) ITH 3c4TE <! HL=HT ferfau -

Cl,, ATA BIEHITH
(a) CH,-CH,-COOH

b

Hz, Pd - BaSO4
(b) CH.COC! N

KOH
() 2HCHO — = >

(i) 3fes & tftres @ vl #f 31y fmferfiad uftads S8 wrom i
(a) 9UAH & IdE
(b) S TS & S RS 30

56/1 10 cn
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(1)  Give reasons :

(a) HCHO is more reactive than CH,-CHO towards addition of HCN.
(b) pKaof O,N-CH,-COOH is lower than that of CH,~COOH.

(c) Alpha hydrogen of aldehydes & ketones is acidic in nature.

(i) Give simple chemical tests to distinguish between the following pairs of
compounds :

(a) Ethanal and Propanal
(b) Pentan-2-one and Pentan-3-one
OR
(i)  Write structure of the product(s) formed :

C1,, red phosphorus

(a) CH,-CH,-COOH

H,, Pd - BaSO,
(b) CH,COCI N

Conc.KOH
(c) 2HCHO >

(i) How will you bring the following conversions in not more than two steps :

(a) Propanone to propene
(b) Benzyl chloride to phenyl ethanoic acid

26. () (a) Fr=fofgs gadha w1 eafen e - 5

POLOOOOLOO®

59 g g fohd PR T greehed G ST & 7
(b) () KCI (i) AgC/ g o YT 1 Ti3fRaHIgT Y e wiren € 2
(i) 112 g cm 3 B9 STEAT 1§ Gt elh-chiwgd HHIF STeieh H fshectisd &Il &,

519 S A= 4 x 108 cm B | T H [0S ZeAHH Uftehfrd shifau |
(N, =6.02 x 10% mol™!)

Y1

et 9Tq Beish—hiad o1 STelh | ThEcclihd Bl & | Teheh hiEeh] ! oag
3.0 x 1078 cm 37 <1 178 | fereer i wwmmy] Bream 3 wes aftehfera Hifs |

(Ag %1 AT geaWH = 108 g mol ™!, N, =6.02 x 10%* mol ™).

56/1 11 cn
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(a) Following is the schematic alignment of magnetic moments :

DODODODD

What type of magnetism is shown by this substance ?
(b) What type of stoichiometric defect is shown by (i) KC/ (i) AgC/ ?

(i) An element with density 11.2 g cm™ forms a fecc lattice with edge length of
4 x 1078 cm. Calculate the atomic mass of the element. (N, =6.02 x 10%* mol 1)

OR

Silver metal crystallises with a face centred cubic lattice. The length of the unit cell is
found to be 3.0 x 10~® cm. Calculate atomic radius and density of silver.

(Molar mass of Ag =108 g mol !, N, =6.02 x 10%* mol 1).

56/1 12 cn



